MAGNETON

9141 325

STARTER MOTOR

IMPORTANT DIMENSIONS TO FIT ON ENGINE

MAX.184

.
3 =
® §
73 ﬁ i
H | I
2 5/ E B )
MRl ‘
——— &
7] < | g i
| / =
-
Y — | )
16
13 | 156
TECHNICAL DATA
Nominal voltage 12v Pinion teeth number 9
Rated output 1,0kwW Module 2,1167
Rated speed 1 500min Pressure angle 12°
Static torque 15Nm Weight 3,0kg

APPLICATIONS

1. FIAT
2. LANCIA
3. ZASTAVA

CROSS REFERENCES

Bosch

Delco Remy
Iskra

Lucas
Valeo

HC Parts
Hella

Fiat
Zastava

0001 157 021

0986 011 871

DRS1781

IS 0519; 11.130.519; AZE1520
11.130.964; AZE1211

LRS00141

432663; 433278

CSo9a1
8EA 726 247-001

4198600; 46231525; 77145430
1616404, 4421688; 46629781
09 /2012

MAGNETON a.s., Hulinska 1799/1, 767 01 Kroméfiz, Czech Republic
Tel: +420 573 592 255; Fax: +420 573 331 239; e-mail: marketing@ magneton.cz; www.magneton.cz



http://www.magneton.cz

Pouziti spoustéée 9141 325 Strana 2 / 3

Applications of starter motor 9141 325 Page
BRAND MODEL ENGINE PRODUCTION YEAR
TYPE kW PS ccm
FIAT 128 1.1 33 45 1116 02/75 - 09/81
FIAT 128 1.1 40 55 1116 03/69 - 12/84
FIAT 128 1.1 Sport 44 50 1290 08/74 - 12/84
FIAT 128 Familiare 1.1 40 55 1116 10/69 - 10/82
FIAT 128 Familiare 1.1 33 45 1116 02/75 - 02/81
FIAT 128 Familiare 1.3 44 60 1290 12/74 - 10/82
FIAT 128 coupe 1.1 48 65 1116 08/75 - 02/81
FIAT 128 coupe 1.3 55 75 1290 03/72 - 12/79
FIAT 128 coupe Berlinetta 54 73 1290 06/75 - 12/79
FIAT Regata 70 1.3 48 65 1301 09/83 - 07/89
FIAT Regata 70 1.3 50 68 1301 09/83 - 07/89
FIAT Ritmo Bertonr Cabrio 50 1.3 50 68 1301 10/85 - 12/87
FIAT Ritmo 1 60 1.0 44 60 1049 09/78 - 09/82
FIAT Ritmo 1 65 1.3 48 65 1301 01/78 - 09/82
FIAT Ritmo |1 70 1.3 48 65 1301 11/83 - 08/85
FIAT Ritmo 1 75 1.3 55 75 1301 01/81 - 09/82
FIAT Ritmo 11 60 1.1 43 58 1116 04/85 - 12/87
FIAT Ritmo 1 70 1.3 50 68 1 301 01/83 - 04/85
FIAT Ritmo Il 75 1.5 55 75 1498 09/85 - 12/89
FIAT UNO551.1 40 54 1116 01/83 - 08/89
FIAT UNO 60 1.1 43 58 1116 05/85 - 08/89
FIAT UNO 70 1.3 48 65 1 302 05/85 - 08/89
FIAT UNO 701.3 50 68 1302 01/83 - 04/85
FIAT X 1.3 54 73 1290 10/75 - 08/78
FIAT X 1.3 Axclusiv Serie 55 75 1290 05/73 - 12/79
LANCIA DELTA 1.3 55 75 1290 09/79 - 08/92
ZASTAVA 101 1.1 37 50 1116 12/75 - 01/80

ZASTAVA 101 1.1 40 55 1116 06/73 - 01/90



Nahradni dily spoustéée 9141 325
Spare parts of starter motor 9141 325

1.0 Viko pfedni o Cat
Front cover
2.0 Ndhon pastorku ... oo Cat
Pinion drive
2.1 Hfidel pastorkovd ... ..o Cat
Pinion shaft
2.2 Lozisko Cat
Bearing
2.3Lozisko . Cat
Bearing
2.4 \Volnobézka ~ ... Cat
Clutch
3.0 Viko pfevodové = L Cat
Gear bracket
4.0 Spina€ sestaveny = ... i Cat
Contactor assy
4.1 Vieko sestavené = . Cat
Lid assy
5.0 Kotva sestavena ... .. ... Cat
Armature assy
6.0 Stator s drzakem kartaét .................... Cat
Stator with brush holder
7.0 Viko zadni Cat

Rear bracket

Poznamka
Note

1. Spina¢ sestaveny je dodavan véetné 2ks Sroubd M5x14.
Contactor assy will be supplied with 2 pcs screw M5x14.

2. Viko prevodové je dodavano véetné loziska 6002 2Z a ucpavky.
Gear bracket will be supplied with bearing 6002 2Z and sealing.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

Strana
Page

6955650

7152350

3371210

324162032

324165016

7152240

6954940

7150872

7150810

7150882

7152001

1658400

3. Pastorkova hfidel je dodavana véetné pruziny, zajiStovaciho a pojistného krouzku.
Pinion shaft will bw supplied with shoting spring, stop ring and lock ring.

21 22 23 24

-l

4.1
P h—

&

6.0 7.0

3/3



MAGNETON

9141 325

STARTER MOTOR

IMPORTANT DIMENSIONS TO FIT ON ENGINE

MAX.184

.
3 =
® §
73 ﬁ i
H | I
2 5/ E B )
MRl ‘
——— &
7] < | g i
| / =
-
Y — | )
16
13 | 156
TECHNICAL DATA
Nominal voltage 12v Pinion teeth number 9
Rated output 1,0kwW Module 2,1167
Rated speed 1 500min Pressure angle 12°
Static torque 15Nm Weight 3,0kg

APPLICATIONS

1. FIAT
2. LANCIA
3. ZASTAVA

CROSS REFERENCES

Bosch

Delco Remy
Iskra

Lucas
Valeo

HC Parts
Hella

Fiat
Zastava

0001 157 021

0986 011 871

DRS1781

IS 0519; 11.130.519; AZE1520
11.130.964; AZE1211

LRS00141

432663; 433278

CSo9a1
8EA 726 247-001

4198600; 46231525; 77145430
1616404, 4421688; 46629781
10/2012

MAGNETON a.s., Hulinska 1799/1, 767 01 Kroméfiz, Czech Republic
Tel: +420 573 592 255; Fax: +420 573 331 239; e-mail: marketing@ magneton.cz; www.magneton.cz



http://www.magneton.cz

Pouziti spoustéée 9141 325 Strana 2 / 3

Applications of starter motor 9141 325 Page
BRAND MODEL ENGINE PRODUCTION YEAR
TYPE kW PS ccm
FIAT 128 1.1 33 45 1116 02/75 - 09/81
FIAT 128 1.1 40 55 1116 03/69 - 12/84
FIAT 128 1.1 Sport 44 50 1290 08/74 - 12/84
FIAT 128 Familiare 1.1 40 55 1116 10/69 - 10/82
FIAT 128 Familiare 1.1 33 45 1116 02/75 - 02/81
FIAT 128 Familiare 1.3 44 60 1290 12/74 - 10/82
FIAT 128 coupe 1.1 48 65 1116 08/75 - 02/81
FIAT 128 coupe 1.3 55 75 1290 03/72 - 12/79
FIAT 128 coupe Berlinetta 54 73 1290 06/75 - 12/79
FIAT Regata 70 1.3 48 65 1301 09/83 - 07/89
FIAT Regata 70 1.3 50 68 1301 09/83 - 07/89
FIAT Ritmo Bertonr Cabrio 50 1.3 50 68 1301 10/85 - 12/87
FIAT Ritmo 1 60 1.0 44 60 1049 09/78 - 09/82
FIAT Ritmo 1 65 1.3 48 65 1301 01/78 - 09/82
FIAT Ritmo |1 70 1.3 48 65 1301 11/83 - 08/85
FIAT Ritmo 1 75 1.3 55 75 1301 01/81 - 09/82
FIAT Ritmo 11 60 1.1 43 58 1116 04/85 - 12/87
FIAT Ritmo 1 70 1.3 50 68 1 301 01/83 - 04/85
FIAT Ritmo Il 75 1.5 55 75 1498 09/85 - 12/89
FIAT UNO551.1 40 54 1116 01/83 - 08/89
FIAT UNO 60 1.1 43 58 1116 05/85 - 08/89
FIAT UNO 70 1.3 48 65 1 302 05/85 - 08/89
FIAT UNO 701.3 50 68 1302 01/83 - 04/85
FIAT X 1.3 54 73 1290 10/75 - 08/78
FIAT X 1.3 Axclusiv Serie 55 75 1290 05/73 - 12/79
LANCIA DELTA 1.3 55 75 1290 09/79 - 08/92
ZASTAVA 101 1.1 37 50 1116 12/75 - 01/80

ZASTAVA 101 1.1 40 55 1116 06/73 - 01/90



Nahradni dily spoustéée 9141 325
Spare parts of starter motor 9141 325

1.0 Viko pfedni o Cat
Front cover
2.0 Ndhon pastorku ... oo Cat
Pinion drive
2.1 Hfidel pastorkovd ... ..o Cat
Pinion shaft
2.2 Lozisko Cat
Bearing
2.3Lozisko . Cat
Bearing
2.4 \Volnobézka ~ ... Cat
Clutch
3.0 Viko pfevodové = L Cat
Gear bracket
4.0 Spina€ sestaveny = ... i Cat
Contactor assy
4.1 Vieko sestavené = . Cat
Lid assy
5.0 Kotva sestavena ... .. ... Cat
Armature assy
6.0 Stator s drzakem kartaét .................... Cat
Stator with brush holder
7.0 Viko zadni Cat

Rear bracket

Poznamka
Note

1. Spina¢ sestaveny je dodavan véetné 2ks Sroubd M5x14.
Contactor assy will be supplied with 2 pcs screw M5x14.

2. Viko prevodové je dodavano véetné loziska 6002 2Z a ucpavky.
Gear bracket will be supplied with bearing 6002 2Z and sealing.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

. No.

Strana
Page

6955650

7152350

3371210

324162032

324165016

7152240

6954940

7150872

7150810

7150882

7152001

1658400

3. Pastorkova hfidel je dodavana véetné pruziny, zajiStovaciho a pojistného krouzku.
Pinion shaft will bw supplied with shoting spring, stop ring and lock ring.

21 22 23 24

-l

4.1
P h—

&

6.0 7.0

3/3



